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1. EEFBRA

O&£BFHENA 19,230,000 19,682,168 ~452,168

SRIFA 16,470,000 17,430,000 -960,000

IRERASE 760,000 1,067,168 -307,168

REEHEHEENA 600,000 434,000 166,000

HEFHESRA 800,000 0 800,000

VA= BERA 400,000 300,000 100,000

BRIV TEREFEEA 200,000 451,000 ~251,000

OB FZEINA 102,300,000 95,951,300 6,348,700

ZEEE 101,300,000 95,703,300 5,596,700

jasl il 1,000,000 248,000 752000

*F ¥ & E2)] [ A &t 121,530,000 115,633,468 5,896,532
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SBEETH 21,843,000 14,117,874 7,725,126

REEHEF VSR 300,000 1,441,930 -1,141,930

REPHESE T 1,000,000 113,045 886,955

VoA —ZBRER 550,000 488,452 61,548

ERV—TRERIH 300,000 1,410,762 -1,110,762

SERGTEEERTH 50,000 435,276 -385,276

MiRRE - EERRZE 4,250,000 5,154,662 -304,662

SHRETEIH 2,100,000 3,309,080 -1,209,080

KEEEE T 500,000 1,031,547 -531,547

EBE PR R S 100,000 316,213 -216,213

AUy EBREE X H 0 457,827 -457,827

R—tra—HBETH 600,000 -40,920 640,920

AMEESE 3,881,000 0 3,881,000

BER 5,297,000 0 5,297,000

EREE 2,915,000 0 2,915,000

OIREFESH 74,490,000 74,815,728 -325,728

SHEEETH 43,044,000 73,751,323 -30,707,323

HEhRITE X H 500,000 1,064,405 -564,405

NGBS 19,683,000 0 19,683,000

wEE 5,693,000 0 5,693,000

ERES 5,570,000 0 5,570,000

@EFBEEIM 18,799,000 18,556,102 242,898

HWEFY 8,339,000 8,707,771 -368,771

ERELEE 1,364,000 1,421,328 -57,328

wBE 1,206,000 869,286 336,714

REREE 497,000 191,615 305,385

SR 1,250,000 114,720 1,135,280

BRRE 412,000 453,258 ~41,258

XHEE 531,000 526,103 4,897

8% 337,000 326,183 10,817

AFHANR 1,700,000 2,717,450 -1,017,450

T 270,000 340,388 -70,388

XIEHEE 2,893,000 2,888,000 5,000

= ¥ & E2) *x Hi B 115,132,000 107,489,704 7,642,296

£ E=S i g ird X = B 6,398,000 8,143,764 —1,745,764
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ERESEEFEESIBIEA 1,000,000 1,000,000 0

& & & ) i A B 1,000,000 1,000,000 0
2BEEEEIH

SO ERESFERBUASTH 2,000,000 2,000,000 0

BEMEEN RS 5,000,000 5,000,000 0

& 53 & &) x H 7 7,000,000 7,000,000 )

# & & i id * = # -6,000,000 -6,000,000 0

El # X b = #H 398,000 2,143,764 -1,745,764

L5 i % i lird X = 3 76,347,298 76,347,298 0

% # B 4 [lird b3 = # 76,745,298 78,491,062 —1,745,764




